
advanced FLOW engineering, Inc. 
252 Granite Street, Corona, CA 92879 

For TECHNICAL and INSTALLATION SUPPORT, please call 951-493-7134 OR email tech@afepower.com (send photos if helpful) 
All other type of calls, please call our main line at 951-493-7100 

www.aFePower.com Revised: 01-10-2017 EJD 

Silver Bullet 
Throttle Body Spacer 

PN 46-32005 
Important!  

This kit includes parts for several different installations. Please read and also verify the parts list before you begin your installation. 

Make Model Year Engine 

RAM RAM 1500 ’09-‘17 V8-5.7L 

RAM RAM 2500 ‘09-‘17 V8-5.7L 

RAM RAM 3500 ‘09-‘17 V8-5.7L 

Dodge Durango ’09-‘17 V8-5.7L 

1. Disconnect the Intake Air Temperature (IAT) sensor. With the 8mm nut driver, loosen intake tube clamps and remove air intake tube from the throttle body. 
Remove engine cover. Disconnect the Throttle Air Control (TAC) harness plug from throttle body.

2. Using a 10mm nut driver, loosen and remove the (4) factory throttle body screws. Remove throttle body, but leave the factory-sealing O-ring in place. (Save 
the factory throttle body screws in case spacer is ever removed.) 

3. Install the aFe Silver Bullet throttle body spacer, gasket, and throttle body onto the intake manifold. (The gasket will be placed between the throttle body and 
the spacer.)  Using an 8 mm socket and ratchet, install the throttle body to the intake manifold using the supplied fasteners.  (The flat washer will go against
the throttle body, so that the lock washer will be between the flat washer and the underside of the head of the screw.)

4. Tighten the screws to 49 in/lb.  Do not torque over 49 in/lb. Note that this is a plastic manifold and does not require extreme torque. Do not strip these.
CAUTION: Over torque of the throttle body screws can result in intake manifold damage. Advanced FLOW engineering, Inc. will not be responsible for 
damage to the intake manifold due to over torque of the throttle body screws.

5. Reconnect TAC harness. Reinstall engine cover. (NOTE: On the RAM Trucks, you may prefer to trim the engine cover to accommodate for the raised throttle
body.)  Reinstall the air inlet tube to the throttle body. Reconnect the IAT sensor harness.

Your install is now complete!  Make sure to ensure/retighten all bolts after 100 miles of driving. 

Parts List 
1 aFe Silver Bullet Spacer 
1 Gasket 
4 each #12-14 x 85mm screws (For ’09 – “Early 
’12” models)-will replace silver stock screws 
4 each #12-14 x 75mm screws (For “Late ’12” – 
’16 models)-will replace green stock screws 
4 each M6 flat washers 
4 each M6 lock washers  

Tools Needed 
10mm nut driver 
8mm nut driver (for intake tube clamps) 
8mm socket and ratchet 

1 2 3 

4 5

Chrysler Aspen ’07-‘12 V8-5.7L 

http://www.afepower.com/

